Review worksheet chapter 11

1. How many moles of water are produced from 6.5moles of oxygen according to the following
reaction? (10 points) _ S
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2. How many moles of Fe are needed to react with 3.2 moles of S to form FeS? (hint you need the
balanced equation) (15 pomts) ‘X TC + 4 S =t Fﬁ 5
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3. How many grams of CO, are produced when 0.85g of C,H,, reacts with oxygen according to the
following equation:

2C4Hyp + 130, = 8CO, + 10H,0
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4. What mass of CO must react with O; to produce @lﬁ'@g of CO{-’ (15 points)
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5. What mass of SO; is produced from the reactlon between gl 5g of Sa and 8. PS o4 of/OZ
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What is the limiting reactant? B
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6. A reaction occurs between Cr and Cl, to form CrCl, 2.0/ I uP S,\
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a. Write the equation L O
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b. If5.6 g of Cr and 4.5g of Cl, are used, how much CrCl; will be produced?
& . - ‘ { .
oWaly Inaol \Cr é; 5 ( o
2 % ’N,\ (’ €3 Jc (rC - \1.lqg Cr A
92.0 chr = g Y

I”Y\ Q ;’Cl
H \Cj(,\ \’“U‘(J Q?[&C 3— = \ ro jU 9 (r('q )

c. Astudent performs e experiment and gets 5 41' W at is %He percent yield?
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